
 
 q = 72

  





   


   


   





 
 



  



     


   









Player 1 take E b Clarinet

(optional; see note for measures 32-40)








Player 1 Bb Clarinet upper notes or

Player 1 Eb Clarinet lower notes




div.

  







  










  






  

 




 

q = 120
Player 1 take Bb Clarinet

   

a 2





                

Player 1 solo. Player 2 take Eb clarinet (tacit until m.61)

  


  
  


                              

      
Eb Clarinet


                  


        

    
(Eb Clarinet) Bb Clarinet

          
        

Player 2 take Bb clarinet and join Player 1 at m.73

               
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1 Clarinet in Bb

(dbl Clar. in Eb) for 16 clarinets in 8-10 parts
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


                


stagger breathing okaya 2

     



Eb Clarinet



     




Take Eb clarinet to m.94

q = 60  





(Eb Clarinet) Bb Clarinet

           5       
  



     


a 2




     
   

3

    
          


  

q = 120         


     
3


 

molto rall.

 3      




       
q = 84

  


             


  





                
3

           




   
accel.

    

  
q = Ç 144


        




Eb Clarinet

 


Take Eb clarinet to m.185

 
 


  


      




 

 Celsius - 1 Clarinet in Bb

(dbl Clar. in Eb)




(Eb Clarinet)



                  

 
(Eb Clarinet)

   
rit.

        q = 84

  
3


 

q = Ç 144



 3  



(Eb Clarinet)

  3    
3

                              



(Eb Clarinet)



 
3

 
   3  

  3  
3

          
3

      

 
(Eb Clarinet)

             
9

       
rit.

  
      

 
 



q. = 56


  rit.

Take Bb Clarinet q. = 48 accel.


Bb Clarinet


    



q. = 56
a 2

      


        


      





  


                       




                 


rit.

      

Celsius - 1 Clarinet in Bb

(dbl Clar. in Eb)


